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Time : 3 Hours Marks : 160
Instruction :

1

Each question carrics une mark.

e L‘n’:-‘il.!;‘.z 2.4 a‘m::i}zr Eeadls.

2. Choosc commect answer to the following questions and darken, with 1B pencil, the
correspondmg digit 1, 2, 3 or 4 in the circle petlaining to the guestion number concerned in
the OMR Answer Sheet, separatcly supplied to you.

Bl allyd (58 FHH% G Jhrariind HnE oodd drdod 8681, 2,3 854
o alyd OMR Shreed Hiud® 246 donofold dosgio e
HB 288 Som Josdsi.

BOTANY

L. Idemify the scientists worked extensively on chlorophyllous /and nun-chlorophyllous
Thallophytes, respectively :

I lvenpar . Swaminathan

III. Mehta IV. Maheswari

qE Fod Bird WO IS FOS B e pdop T whgotte Bub

T gRdeRn HHm oy,

L eobeomd L/ Rreaarda

Ol hdres IV, &arided

The carrect pair is

20 HBGLL we

1y TV uzj/ L, 1l

(3) T, 11 . (4) 10, 1V
Rough Work

15
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2. Siudy the following Lists -
1.ist-1
(A) Training in landscaping

(B} Esmblishment of Mycalogical herbarium

{C) Research on paper pulp
(D) Introduction ol Safvia into India
& 200 wDoroi Bgulbo Hohod.

AT |
(A) erol \pdohp A%

(B} FDogre G0 Doyt dofse L

(C) shde by HBESS

D) >ogair Fwkyd nodalrd’ @DIbEs IV,

The correct matlch 1s
2B BOGLS £°Go

A R C D

() Il 1 v Vv
2y v oI I il
IR 1 I W
NEE iR v I a8

3. Which of the following two are the Tesultant of stipule moditications

L Spincs in Ziziphus
Ul Tendrils in Nepenthes
V.  Thoms in Bougainviflea

& |So8 adE’ O Dot Hdhopw driresd 3080

1 22nks fobsea

0L SHobhe® bdben

V., SHeDOaEE” Swi.

I'he correct pair is / A& DHIDR wd

(13" Ll Jd¥ LU

AM 2008 A
List-11
L BST
M. CIMAP
M. FRI
Ny, IARI
V. NBRI
Praral .o | |
I B5T1
CIMAPR
I, FRI
LAR]
V. NBRI
O/ Tendnlsin Smilax
V. Spines in Argemone
1. E@Eﬁ@ﬁ Sxdmden
V. Hgﬁrﬁaﬁ*‘ BohsTen
(3 ILV

{4y HLV

Rough Work

xS
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4. Which onc ol the following conditions is seen in the roots of a plant having submerzed
assimilatory roots and apongy petioles ?

(1) ‘Triarch

L(.?j’/ Maonarch

(3} Tetrarch
{4) Diarch

NUS® wdfiokod Teofisdn duh Hoow o Dol Y& Hyewrod L0
) YS & |Bob Hwd’® 28 Kb 7

(1) | Bpds bl

2T N8 B weetisgo
(3) S (B o
4)  8g [HE& ko

5. Hdentify a pair of the following plants which show modification of axillary buds into tendils
and hooks respectively

L Hugonia : I Duranta
0. Passifiora ' IV.  Dinscorea

& (o S |id e, (e, B o drdroddo Bod Q) T © &

KB ol0&,
| - Eh sk Tovind 1. Sgroo
W ugro IV, Soird bab

The correct pair is
ab DOOLD ud

(1) LI ' 2y IL IO
m, T @ ™,
Rough Werk
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6. Snudy the following Tablc
[ L False - wharl " like | Many sessile bisexual flowers Leanotis
inflorescence
Il. | Single lower itke | Many stalked staminate and pistillate | Loinseftiu
inllorescence flawers ' '
M. | Fruit — like inflorescenci: Many sessilc stamunate flowers ool Fieus
the top and pistillate [lowers at the
hase and sterile flowers in between
IV, | Fleshy axis of inflorescence | Many stalked staminate flowers al V Colacaciu
the base and pistillate flowces on the
| tep and sterile flowers im herween
& |Bod HEEL wdpalido Dobod
L | wdys doce v od w3¥ o Jerd B3dons EorrSan
Ry WRTEQ Py
L | 2% diyo ot iy @S Hyod ol Hb wouky &y | Sowdhgut
Eaﬁgi’au @aﬁm
I | Do Dol Gy IRegRo wod Nyod Sird pin Puryen
wfos?, by HRrje wer o™ | o kg
Socis Yarpen ngisd” .
V. | 629/08 Ry Argd w38 Syodolud HRE Paryw | Fuihal
. werdod®, by PR efod’
S0y Hodss WRe Dyt
The correct pair 1s
a0 D00y w6
L (2y LIV
(3 1, 111 ) I,V
Rough Work

48
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7. Ruad the following lists :

List-1 1ist-Ii

(A)  Gall flowers I.  ~ Theobroma
(B}  Sympodial axis . Bougainvillea
{C}  Achlamydeous . Ficus
(DY  Caohiflary IV.  Euphorbia
. V.  Hemelia
O (Bul erDeruido adgatte dobad
el erflar-11
(A S Yaryen L Falsttops
{0 waroard efo 1. RS DB ol
(C) 2033 direfo M 35
(M) [Dsrod PANSNE V. oldlnolr
V. irodofr
The correct match is
2l V0gha &5
@ B © o
(1) I v I m
(2) I v n.,
(3 I 1V i i
Vg A A% 1

#.  In the flowers of a plant, the ovariun part is fused, but qtyles and stigmas are free. Its ovary
becomes unilocular due to breakdown of partition wall and the ovules are attached lu 3
ventral axis. Identify the plant.

M1 Dianthus | | (2)  Abutiton (3)  Nymphaea (4)  Michelia

28 I8 PEryoS® sogrich Ko BacoER, Soven, Sermes DAM &amyow. o
worioho. adii’d FRIySppndo by Qﬁﬂmzﬁ:@émﬁ wook wowrer Eopfiod
w33 @ei)ﬁ"aﬁ Gormown. & iy HYod

A SairosS. (2) wwlerS (3} Jodpare 4) DEOm
Rough Work
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9. Arrange the following truils in descending order based on the number of jocules in the ovary

from which il develops
1. Carcerulus - O.  Schizocarp
M. Cremocarp V. Repma

& (208 Herod, el JEyd womiuirod'y Dore Homg wordorm s e
Léﬁn}ués R,

L sgydex I w0
nL  |S3rs6y V. 3o

The correct sequence 15
ab DGR |Eo
O WLV, T (2) LIV,HLL - (3) LTV, LI 4y LML, IV

1. Identify the characlers with reference to the plant in which eight nucleated embryo sac was

first studied by Strasburger. '

L Micropyle, chalaza and funiculus arc arranged-in the same vertical line in the ovule.

1II.  Presence of both unisexnal and bisexual flowcrs in the same plant.

M. TFiliform apparatus helps in conduction of food smaterials from endosperm to vgg
' apparatus.

IV. Long funiculus ¢oils like a watch spring arcund the ovulue.

Fanagh Fdaron edgobivo oo IOIDG Bolsre LodE Ry St )
Nowofoln olmeeiy Hiaian.
I woded ol ogbo, Sueer, $okn)oso &8 Dendy Sod winbohodrow,
M 28 A D I8 Sof ool 2gDo yd o Jodr dotrow.
I wodhdidytoived & fe: S POET IS LS Dorgro Sarer X, EEILeute
_ HOETo ﬁstﬁ;jd;éoc)&. -
v, &M voddodo, sodo it Hdokrdy Dygeih o Logesd sotob.

Identify the correct pair.
HOoHD wdin hiodviw.

a1y L 2y IL I N R @ OV

Rough Work
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11, Frowm the following identify the two correct statements with reference to meinsis,
. Bead like structures arc absent un chromosemes,
Displacement of chiasmata ocours in diakinesis,

Separstion of two basic scts ol chromosomes.

2 3 A

Nuo division of centromere.

K585t efesd Gy 61 808 TS Toth HOES srgpperts B oL,
H Lg‘ﬁrﬁﬁ%»ﬂ 3 ayeiae) éoeﬂ STEP O GOk,

I Sofrdme Swdo do&’:@:} 2t it

. Bodh Eardbve re Sddien D880 |

IV. 2oo|S*DobE Seed s

The correct statements are

HOGDLR arggen

\aa/ om (2) 1LV

(3) IOLIV (4 Ll

12, In 4 DNA segment Laving six coils, there are 22 nitrogen base pairs linked hy two hydrogen
bands. How mauny cytosine bases are found in (hat 5egm¢nt ?

w 060w o DNA pods8odt 22 Dl Fozde Todk eSS auery B8
Dogrne Dol Pyon. o podded’ i)y RETHG grorenotr an?

(1) 22 (3738

(3 42 {4) 76

Rough Wark

7h
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. H. Shull observed inbreeding depression in » plant. Miller and Lethuarn isolated a
hormone from the immature sceds of that plant. Which ol the follewing character 1 NOYL
associated with that plant 7
(1Y Atactostelic candition in stem
(21 Bundle sheath in leaf
(31, Chromosomal number of endozpermous cell is 30

Medulla absent in the rool

2205, o 0.8 W) wodt (bakd s Hiomd. o g, B8 DyTw &od
e, Dsven .8 5:55“@’“@&3 Ry B, & (Bob ofmros’ & @ g
[oROOOTIH 57 T '

(1) sroded® Rrl Hb 23

(2)  Hdod® Howwy Wb

{3 raoé:tﬁ-::’}ﬂé Eod® Lﬁﬁﬁﬁﬁﬂémﬂ Jogg 30

W A6 by doss
Read the following kists
List-1 : List-II
{A)  Dxtra [oliar nectanes L Achras
{B)  Schizogenons cavities - L Tropaeolum
(C)  Laticilerous ducts I Passiffora
(D  Hydathodes IV. FEucalyptus
Y.  Pinwy
& [Bed erlizredy @qﬁguﬁﬁc Hobod
emlae-1 erlae-11

(A)  PinsY Sofded fofen 1 | 5

(B) D8 Sxueew 1/ /| adirocdy
(Cy  er@Rdd sreeen 1L ﬁn}bg?m
(I} =e Hojgros IV, oErEDHS

V. R

The cormect match is / &8 E&Eiﬁ_ﬁ &
(A) (1) (C} (D}

(1) III | fl v

(2) - I | H | v

&) I A% I |

4y v 1 I [
Roogh Work

85
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15. ‘The tracheophyte characterized by habitual heterophylly, absence of companion calls in
phioem and prescnce of vessels in the xylem is

\:;;’/Drfmys
Seluginella

(2)  Peris
(4)  Gretum

w818 Bon0d X)) JE 18, T Smeraos’ 0 Sorod £0ofuodENNE0,
feoer 0ol ol Tvred EQahoddo ofr el 8ol (i Harper w0,

(1) |35

O e ader

16.  Study the following lists ;

List-I
{A) . Adrachis ' 1.
(B) Mangifera 1.
(<) Cajanus {11
(1) Oryza TV,
V.
& |Bob wrdsrol wdzubivo Dobhod
a1
(A)  wodD I.
(R) droghpor n,
(€) Serdd i,
(D)  eDerm v.
W,
The correct match is
20 DOad S*do
(A) B

W IV

) 1 n | v
(3) | v
(4) v 11l i

—~2<=d

(2) BBh
4 e

List-T1

Basket making
Saky

Fixed oil
Diurehic
Nitrocellulose

sLe-Il

ede olrd
28

RIS
R S0ER 50
B8 vewed'E

Rough Work

a5
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17.  Study the following related to uses of plants and identify the correct match for sorghum and
catton respectively

I.  Blood purification and organic fertilizer
1. Arumal feed and paper industry
I, “B” Vitamin and cosmetics

1y, Explosives and vrganic fertilizer

o adcirmes Sowofold & (ol &l wiigotibo DU, &%y, 85
Ehrddons HOGh £ 3ok hgoin,

L 0% G, vodal J6RY

[ hdde oswe, sthddy HOH

M. B S, & oddg &fis w

vV, Sends DEEgee, ol i,

The cotrect palr i8

20 DBSLS 2265

(1y L1 () T,

(33 TLIV \(;H/ IINRY

18.  Which une of the following formed in Spirogera is difterent based on its nucleus ?
Zygospore {2)  Azypospore
{3}  Aplanospare {4y Akinete

?_g;)ﬁsﬂm@'s D6y & 30D 0d” Bo|d8o werfor =0 fInn ?

U-f/ DooinE g Dao . () wdoulvg % D
G} D%y0 g bee @) e3hE
Rough Work
108
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19. Assertion{A) : The litc eyele in Funaria s called diplohapiontic.
Reason (R} :  In Funaria, (here s aliomation of haploid gametophynic and diploid
sporophytic phases, one becoming parenl Lo the other.
The cormect answer 15
{i) Both {A)and (R) are true and (R} is the correet explanation of (A).
{'?] Both (A) and (R) are true hut {R) 15 not the comrect explanation of' (A).

{A) is true but {R) is fulse.
W {A) s false hut (R} is true.

DRyde(A) ¢ DgStalr £D8 §|sey Seo JE RBE0 wotrd,
T¥no (R) ¢ HeSdalrd® JE HBS Jodr Dald Whul Sgub PBY RY Dud S
' Dsrosforr Gotron. bak el il DL adden aerow.

TR ﬂﬁﬁam CATNEEAW
(1) (AY D00t (R) Budhr SOGHA. o (A) D {R) BEGLS DS,

@) (A) 20Bakn (R) Sodr BG4, 33 (A) © (R) S0GS Ddm 5.
(3) (A)DBGTEE 30 (R) HOGHLE T,
7 (A) HBEREB 58 57D (R) HO@HH0

20. Read the tollowing lists :

List-1 List-i1
{A)  Exarch L Rhizome ol Preris
(BY  Endarch IL. Roots of Freris
(C}  Mesarch 1L Pinnuleof Cyeas
(D) Pseudomesarch IV. Pomary stem of Preris
&a |30d ool vdgobve Sobod.
wliee-l ariar-T1
(Ay  arirg @& avdiSe L 8380 5y
(B}  wody Dk aordlo ./ 885 5%
(C)  eddp (Dl orda¥o L~ 83 J850

(D) by gy o e TV TN (ar@ibE seoldo
The correct mateh is / 28 $06hd &0Y
Ay  ® (D)

(1y 1 I v n
2y I IV I I
11 v I 111
4 11 H i A%
Rough Work

1158
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21, Swdy the ollowing lists :

List-1 1.ist-J1
(AY  MI13 bacteriophage L ds RNA
(BY  Rice dwarf virus 0. ssRNA
(Cy  Cauliflower mosaie virus [Il. s5 DNA
(DY Tolio virus . ds DNA
& |3ob wrierei sgzobio Dabod.
wiua-1 oIl
() M3 wrEbobe gred C L - Buds &Fe RNA
{By =G @15'5.;1 B IL a8 2 RNA
(C) 5008 Aweronk B8 1L a® & DNA
D) o> BIS IV. Bud Dhe DNA

The corret mateh is
w0 Hbomd #dod
Ay By {C) (D)

111 I v 1
2y 1l I 111 v
(3) 1 Y | I

4y IV 111 1 1

22, Assign the following substanecs to the cell wall, flagella, ‘s™ layer and pili of bacteria in
COMTECt SeQuUence .
L. Qlycoprowin ([./ /Fimbrilin
I Teichoiwe acid IV.” Flagellin
g2, 808 Siatodd ‘Jﬁsﬂgﬂrul&: w200l Sn E5%0, E7P0, o D78 wbols B0 3Ty
SO0LE |FaoS® Wiy unowi,

. BE B | TS
L @8 ok b V. 8L

The cenfect sequence is
a8 5000 |Shodw
(Ly W, [, TV, T I, 1V, L It {3y I,IV, LI 4y LIV, I,

Rough Work

128



A\

AM 2008 A

23, Identify the fungus which produces chlamydospores from dikaryotic mycelium.

Sphecelotheca sorghi
{3) Pyricularia oryzae

(2) Rhizopus stolonifer
(4) Colletorrichum falcatum

agBodoind Semod SO0 RDoS woo Wod PAE By Dwod #dyd IH

’Eéopﬂl th8odod.
m’“?\:;w‘ b7
(3) pofpsScotr 238

24,  Swmdy the following lists ;
List-I
{A}  Blast disease of Rigs
{B)  Citrus canker
{C)  Grain smut of sorghum

L.
II.
[HE
{D)  Red rot of sitgarcane IV,
V.

& |Bod e Derod wdipatido dabod.

wrlor-]
(A} %0 sf Bibey
(B} b8 stodb B
(€C) £ Aoz =dnd 8lhew
(D) DLE AP B Brow

The comrect match ig
=) ﬁﬁc_ﬁ_.:?f: a?‘r:}o?’.g) '
{A) B) (©) (D}
S INAY % 111 i
v Y I )|
3y U I V L
@y 1 III I Y

< 2 Hea'-

(2)  BEND PedDs
(4) POSToED &) oD

List-I
[Ykaryotis mygelium
Single celled conidiophores
Gram positive bacteria
Septate conidiophores
Gram negative bacteria

erfoe-1T

BeSooine Fdoderno

o & Sakvd PAASrTiSen
(T SRS e §O0DD

s Seres o FAGrIlen
T SHES e E0chd

Rough Work

138
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25, ldenlily three of the folowing plants which exhubil the physiological process descniboed as
‘Necessary Evil’ :
I. Potamageton : Il Sagittaria
Il Limnophifa IV. Mmphaca
" eriig Saloi uégu“ 0= Bhodet [Burdn & Do) @é&;uiﬁ ey ) O
B oo,
L 2r3rddes I ragba
1. @E:vlligr::n IV, Jdopolr
The comrect match s
b S0gha £doy
(I LILII \LZI/II, III, IV 3y LILIV 4y LHOLIV
26, Study the following table .
L. Peperomia Leaf succulent Teaf epidermal cells
store water i
Il Calotropis Non-succulent Root cells  with
-thickened cell walis
QL | Tribulus Ephemeral- Sten1 stores water
IV. | Ammophila Dicot plant Rolling in of leaves to
check water loss
(3ol HPE edgodido Wabod
L | %68 et Sogod Horo By, [JE wedrg S8 Smewo A0 |
Nee Wgron
T T §0e00 50 Ay | 3¢ Srren DodBE Surgeils
20A cvodroaw
M| [ #enged w508 Tk 5700 S8 Jog Tipod
V. [eamaer e B ey w08haeNE Do |
I SR04 DEETos o,
ldentify the correct pair of answers.
OGN Barane adl rhfoded.
NAY L {2y LI {(3) T, 1uU {4y 1L IV
Roupgh Wark

148
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27, Study the [ollowing lists

List-{ List-T
{A}' Mutation breeding L W.L. Johunnsen
{(B)Y  Inbrecding dc;t:rcssinn _ Il Karpechenko
{C’)  Purehine selection M.  Charles Darwin

{D  Intergeneric hybridveation IV, LI Staddler
W GrH. Shull

S0 ol edgaibo Dabod.

X A | D11

(A) S \0RID @aine I WL &5858
(B @08 | PaSR Sendd I =8ySc¥
() ?ﬁ:ug DoH| By Sbinmo 1) SRR LTS

(D) (S dgosdld Soste 1y, LT Eﬁﬂés
v GH 48
The correct match 1s

28 HOGLS PR D
Ay @By (€ (D

(y T Tl v i

(1Y V I1 |
L

. ol Y ¥ 1 [

4y Vv IV 1 i
Rough Work

158
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Assertion {A) :  Citrnflus welfeords 1s produced from a cross between 4n male and 2n
female pluanta. - .
Reason (R} :  These wriplotd sterile plants do not bear seeds.
The correct answer 15
(17 Both (A} and {R) are true and (R} {5 the comrect explanation of (A).
(2) Both (A} and {R) arc true, but (R) is not the correct cxplanation of (A).
{3) . {A)is true, but (R) 15 false.
AT (A ix Lalse, but (R} s wue.
Day8e (A) ¢ BOLD LoD dn HEE HO 2n &y oo Hosdn Dod HEHEHE.
o (R) ¢ & |Soln@d Sody fo) o ddaroms ES o),
20 DOOLE warw
(1} (A)EoBob (R) dodr S8R5 fbubs (A) B (R)HDOGLE Jbdle.
(2} (A) 0oy (R} dodr DBCLRD. 507 (A) £(R) 2OchR dndo sh.
(3) (A) DBODLA 5o (R) 280LSL 5.
(A) HOGLES sreds 523 (R) 20 GR0

s

19,

Study the Ipllowing table showing the components of water potential in closely arranged
mesophyll cells namely A, B and C. :
Cell Osmotic potentizl (MPa) Pressure pulential {MPa)

A - 3.21 0.05
B -0.22 .02
C (.23 (.05

ldentidy two of the fallowing which show eomrect direction ol waler movement between two
cells. '
L A—sB 1. B—0C/7 M, C—A IV, C—>Bh

R ardone wendywan ABL epidieaid s ehd Smrodd dmre hes r".::’5=au‘s=f°.1fo.: ST

& 3o HBEL edratibo Sohod,

o [~ ARVT] r‘éééu {¥MDPa) et %ééc.» (M Pa)
A nail 0405
B - 22 0.02
¢ -0.23 0.03 |
& (Bob o Foth Snre els HOGE 8 ol mgedy W Bodosd hiodad.
. A—>»B 'II. B—=C b C—A v, ¢ —8B
The correct pair is/ HOGh 22
(1) 1,1 {2y, [0, : \_m/l, v (4y I 1V

Rough Work

16 8
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In photoactive hlants. during day ume the lollowing ioawe flux of guard cell is directly

30.
involves the expenditure of energy

(1)
\(}‘Jf Outward movernent ol protons

Ourward moverment of malate

PENES Suk) wi’ B TS, 88 g

48 Sarno mdidbdod,
(1} Srdd ReosDE 0o
OF Brerbes seubA Shoi

31, Assertion {A)

internal N lavels,

Reason {R}) Salt resistant  plants

antiporier.

The correct answer 15

AM 2008 A

(27 Inward movement of potassium 100s

(4]

Inward movemcent of chloride

sy

wE G E0d sotrde dobes® pdgEam

(21 Frirnobo sobrdur STHEE SDode
(h  §IE SHVE HDuk

Salt resistant plants survive n galing habitats by maintaining low

ool rid off -exeess Na~ by ATP energized

Both {A) and {I) are true and {R) is the corrcer explanation of (A).

(2)
(3)
(4)
D360 (A)

(A} is trme, but (R} is false.
(A} s false, but {R) is true

RBoth (A) and () arc tue, but {R) is not the correct explanation of {A).

win 28 TS B8, m SEnY woBdE Na© Frond dgrosdo

LRU AR T ST HdriaathdaTyow.

=Emo (R)

vbm [PEIFSE Fwjte sEEh Natl ATP 38 ow-0d wod

aﬁﬁgﬁ argom FohochEoirow,

20 BOGHS waes

7 (4) £9B0% (R) Dathe $BGDED Hob
(2)  (A) SOk (R) Bode $BGHES 53
®

(4)

o (A) £ (R D

B5H0 kg,

£ (R) 20058 dnlm st

(A)

(A) BBGLHD 520 (R) HOGHH 5.
(A) HBEHD s+ 50 (R) $OGHRE.

Rough Work
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32, The net requirement of assimilatory power for the formation of 6 hexose motecules in maizc
plant is

sy S 6 wrEND sy SofrdE DEJon wllEhGy TyohEdn %5

(1) 72 ATF, 48 NADPH {2) _ 90 ATP, 60 NADPH
{(3) 108 ATP, 72 NADPII \ﬂfi/ 180 AT, 72 NADIMI

33, The reaction which is catatyzed by a praotein that is not found in the matrix of mitochondria is
(1) Conversion of pyruvic acid to acetyl coenzyme A
{2) . Oxidative decarboxylation of ac-ketoglutaric acid
Oxidation of succinie acid
(4) Cleavage of succinyl coenzyme A

& ro|Golr &\ 85S° Sodd | FdHT Sdysboded Sig
(1) 2rdE wiye wbad & dogae A m drde
(2} w8 i 0F wiy widel & )8 8RS

23335 v 0880 |

ol i

(4) DBy FloB A Dbk

34,  Identify the triplet codons which code for the amino gcids serine and proline.

20&, | wdd wired Losdom aod (8% dodoel Mgelod.

I. LCC I CCA mn., AAG v, GGG
The correet pair is / 98 DALY wd _
{1y 1 (2) 1,1V (3 v N2l |
35,  Idenufy two of the following phytohormones which regulate the stomatal movements
L. [AA II.  GA, [1l.  Zeatin IV, ADBA
HESogre Seoed) JaboBod HE Kﬁﬁ“&&@iﬂ Bododk) hohiiw,
L 1A4 I —GA, L 20r8s IV. ABA
The correet pair 1s/ 58 200D ud
(0 L 1I0 2y LI W L TV 4y I,V

Rough Work

188
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36. Identify the pair of physiological effects of two phytohormones which are synthesized from -
different amino acids. _
I.  Formation of perennating buds in Lemnag
II.  Simultansous flowering in pineapple
Ill. Bolting in cabbage _
IV. Apical dominance in Polyalthia
0% RS wiro Bod NARdLdly Botk PO by (Sairs¥
g arely Milodod,
L B &E_Sﬂs*@é STdsran (Rwifen) adythb
I erds JwHon w5r0 Ginoddo
m s#ed §heh
IV, &@oﬁ@oﬁué‘ SlladaliL
‘The correct pair is
al 008 wd (
R @ L
{3 I (4y LI
37. Hentify the plants in correct sequence which exhibit marcescent calyx, herkogamy,
mucilagenous cavities and inferior gvary respectuvely.
L Sphaeranthus . Capsicum
. Gloriosa V. /Kvdia
S8 Srbyod SEE HeDd, SFEEND, Bihd HSroroy ook Jivy woardaho
(HS00T Fnvd) o SPGIR ey HEobn,
L ?a;woﬁ%’:r L syES
M Focird | . IV, EBaolr
The correet scquence is
S8 28510 Bwo
(1) L5, Iv () ILLIL T (3 ILOLLIV (10, O, IV, |
Rough Work
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38. In an inflorescence, ™wo types of small, sessile flowears were observed. They are arranged n
centripetal manner and have reduced hair like sepals. Which pair of the [ollowing characters

are WOT asenciated with such flowers ?

1. MNector glands at the base ol the curolla
II.  Axile placentation
(1. Superior ovary

IV, Scaly bracts

e Sy Drglod’ Sod dsme D Hyod S Hiknuumyue Yaryw SolorPrdor
BB Eryow. UEE HErom 5 ReS0 D Sameds &a‘;‘m Do @&gué’e 80 DB &
O 2é vl Euhowd 7

L wlign Here adgriod® s Kok

IL. 0 wodargdo

L2~

1. gs & GRG0

V., Jexye ol @%@@Qu

The correct pair 1s

Al KOS wi

\_(,H/ I, m

(2} T,V
(3} LI
4y LIV

Rough Work
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39.  Study the following lists ;

List-I List-I1
{AY  Arachis L Swolen placenta
{(B) Cichyrium I Epicalyx
(C)  Lilitom TI.  Fasciculate tuberous roots
(D}  Physalis . IV.  Geocarpy
V. Hulkils
& 8o e Borody wdgolno Hodod. o
wefjar-k w1l _
(A)  wo-Ph L alyd ootagd Qéu
(B) aFBahe L Hkse® $o0E ST
€y O&odho M. e Dol Saod 30:;5:
D) I3 IV,  £rHodo

V. oaw edren

The correct match is
2ab ﬁﬁ@é &5

(A} (B) {C} {D)
n v [11 If v

2y IV I It 1T
3V IV 11 {

vy m v I

40. Which one shows the correct descending sequence with reference to the number of cohorts ?
Thalamiitlorae, Calyciflorac, Discitlorac, Inferac
{2} Heteromerae, Inferae, Disciflorae, Calvciflorae
{3 Bicarpellatag, Discullorac, Heteromerac, Calyciflorae
(4) Disciflorae, Thalamiflorae, Calvciflorae, [{eteromerae

e Dopgh i 08 MDY safire Kirdy drbdod.
&b 3, 30D F0, B DT, aS YU

(2) Wt g, alvs, diy 9, 380 &9

(3) BeB T8, G, §'9, AT o, 34L FT

() Gy, §70, Yo 873, 380 g0, et S

w1 e ——

Rough Work
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ZOOLOGY

which of the fotlowing groups of urganisms arc ecologically similar ?
{17 Troducer protists and consumer protists
(2}  Monerans and producer prolists
(H pnsumer protigts and fungi
Maonerans and fungi

B0 85 Sor o dmbtn dorg Mrirbgd SONLD A7
(1) &d g | Psiro Diad Dok [Erag e

{23 m;‘f}eﬁ:ag Loody GEyd |2rdgre

3 Girif @rdren Hbuk SooEre

Roren Hbak FDoEre

Statement ($) : In roany gastropods, the anus and the mantle 'wavity arc piaced
antenorly ahove the head.
Reason (R) :  During embryonic devclopment, in many gastropads one side of the

visceral mass grows taster than the other side” This uneven growth
rotates the visceral organs upto 180° in many gastropods.
The porrect answor i8
Both (8) and (R} arc ruc and (R) explains (5},
{2} Both {8) and (R) are true but {R) cannot cxplain {3).
{3y Only (S) iy correet but (R) 15 wromg.
{4Y Roth (S)and (R) are wrong. .
opg (8) 10 wewe rw@*j coale eé@ﬂé’s Srofud bk (Sraedyy Birdo [slelr Siavd
grorgodod® Bopd Hod.
ssdwmo (R} 1 orer Py o dho boadb)a Sdvobod® ¥ FP vosual
CiRgo dods B 50 dgbdam dofinte. 8 winigrh Db
sosorol wbaizred 180° 1% BN Dokl
28 SBOkD e :
(8) Doy (R) medw.(8) ..*-‘L: (R) 28012 D,
{27 (%) £ooh (R)Dexbhu. == (5) L (R) éﬁ@é} Rmden S
() (S) HomSd Deva. (R Vi s,
(43 (8) Hobad (R) Dodids Dadw 5=

Rough Work
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Study the [ollowing

A, Itis aterrestrial Arthropod.

B. The prusoma bears a pair of chelicerac, a pair of the pedipalps and four pairs of
walking leps,

C.  The metasoma ends in a telson.

D.  First pair of walking leps are modified as poisonous claws.

Bob @V wigalo o,

wb ol ol Hgsj.:ﬂ"ﬂ" #D.

IS of xd B, af wd Bardyw, Tewd sde demromo

dh o0,

C.  Sedie Doy wodg.

1>, wnch axed mrefe DORy SmdnenT EramoE S wolida

e

Which of the abave are true for Heterometrus ?

() AandC 2" A and H
(3 Aand D 4y CandD
oSS arad® @ bbd HOGED 2D 7

(1) AC (2T A, B

{3y A 4y C,/I
44, The bilateria member that exhibits pentaradial symmetry is
{1} ‘eomeania (2 Needifuy
Neomeira {4) Neopilina
Has DFBem FPho (HeSbrow Wodiolr 2
(1 Dok blode 2) adol
e aial {4) &g
45, The proteins involved in the movenent of chromosomes towards the poles during cell
division are
(1) Actin (2)  Myosin \faj/ Tubulin {4} Elastin
oo s, | FRrdtww Gare F Sdoans Eond [ PdSe
(1} ©8S (2} nCIrdd el iuﬁgmﬂﬁ (4) 'L‘ib"'%"ﬁ
Rough Work :
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The animal in which the space hetween the gut and the body wall is filled with mesenchyms
is

i1y Echinodiscus (2}  Enterobius

(3)  Eunice Fohinncocous

ddrehuds, 108 Hrgld g fo Hed, s Zre Soerood dodhudpd £
= &

(1) a3Fa,S (2) Jeaffobl () olrEdS \m’/ BT EES

ldenufy the type of flagellum in Monas, Urcenlus and Polytoma-in their scquential order
from the following '

A, The flagellum is stichonematic.

B,  Two or more cows of lateral appendages on (he axoncmes.

C.  The lagetlum is pantacronematic.

D, Lateral appendages are absent and axoneme ¢nds as naked axial filament.

208 simrom wf dward, sdholred, SOFHre Ergioein ard Bl Eod®

folawsw, )

A EE‘E w5 BEeaiiw

B, wlah Sodiyp Suh, wodEoB 2D Hdd® rd)g Jogmes,

C. hodr Sokrds oo

D wfok dudy woss eriio, @T}:}m" $Zrdore, Diiyone, aPUlL woepere - tetey
% Otha.

Angwer

NEGUADOVE:

1} ABD () ACD @ BAC @ B CD

Certain stages of Plasmodium vivax may survive lor a long penod in the liver of man ay
dormant stages and vn reactivation enter into ane of the following cyeles

Frythrocytic schizogony (2)  Exoerythrocytic schizogony
(3)  Cycle of Ross (4)  Gametogony
arTdota Farbg® By ddex, ek s@ohedt e sreo &gﬁg@‘“
ZhovKed). od HHsEytn Dotd shard PR30 Jigo

45 Seo akpod ediiy (2) 08 B ardrg Dpod adlin
(3 oen wiEh (4)  meaaET
Rough Work
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49, Which ong of the fﬂilﬂWiﬂg abnormalities in the host is associated to Wuchereria,
Plasmodium and Fasciola respectively 7

A, Parasitic castration B. Iyperplasia
. Febrile paroxysm - . Peritonitis
E. Lymphangitis

The correct match is

\;H/E,c:anda (2) E, Cand A

(3) B,DandE 4) C.DandB

&uBBclr, PAhAabo, PGP Hovd EPu B o8 e dFees® g81
. SRR oot D8 (¥od®d Koty

o, Fon T o

A. n:lcr'él et s*;.;ujn.ﬁ B. W 56 Erhalr

C. B9 do-dydny D, BAgaEh

E.  SofroBdd |

DALY e .
W E,C,B 2) ECA

() B,D,E ), D/R

50. From the following a digenetic parasite is

(1Y Tuenia safium (2  Wuchereria bancrafii
v@f’ Fasciola hepatica (4)  Plasmodium vivax

(8038 DT &) TS dgoargBFon Duviy €D

(1) dRofr FSobha (2} @Uddholr erosg
\j})/q‘:)‘?anﬁﬁﬂ“ arordige {4} ?}“ﬁf&c‘éu}bu éa.:ﬂgg

Rough Wark
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51.  Malch the lollowing :

Set-1 List-IT
{(Pheretima) | {Cell features)
A Phapocytes 1. small cells having vellowish granules
B. Chloragogen cells 2. clongated cells
. Circular cells 3. largest cells with membranous folds
0. Mucocytes 4, cells with characteristic markings on the surlace
2dh DThm.
sedsel : sws-11
(Eledir) (&0 o)
A EE Eren | Sy Senoo SEAD Uiy Seren
g Euffed fore 5 el Stren
Cc Hthe Swee 3 Soadedd dwides SOAN D Lrren
pD. 34 frrw 4/ Em adbduop pIgl e o Swro

The correct set is

RDGDS 226

{1) A-3 B-4 C .l D-2
{2) A-2 B-1 C-4 D-3
3) A-4 B-3 C-1 -1

\m/A—s B-1 C-4 D-2

Rough Work
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52, Srudy the fellowwg m Pheretima :
A, Dorso intestinal blood-vesscls
B. Extemal intestinal plexus.
C. Internal intcstinal plexus,
D.  Ventro intestinal blood vesscl
Arrange the blood vessels in comrect sequenve ol blood flow from ventral blood vessel tv
dorsal blood vessyl
PBELPE” Bol o wgguhdo Todus,
A, DyaroE 05 oyt B. oy woid D
C.  wodd wo|d DENw D.  adovopsd 88 oo
GO 88 wrdo fed Hi% Y¥TeE dY baedr 23S a3y B J§ srere DEgRY
eanB S0 e wochidy,
The correct sequence is
ad 0L (B
{ D—R—A »C {21 C r A y B » D
() H-—>C +D—A 4T D =B > C s A
§3. Statement (S) :  Arthropoda are the mast successful of all the known animal groups.
Reason {R) :  Arthropoda exhibit the greatest adaptive radiation and have adapted to
diverse habitats.
thh (8% and (R} arc truc and (R} explams (S)
(2} Both ($) and (K} are trag 'but {R) canaol cxplun (S).
(33 Only {S) is correct bub (R} 15 wrong.
{4)  Both (8) and {K) are wrong.
Fews (8) 1 SR el wodk FOEAMEISTON Hg‘:?ﬂga‘ e Jeolduddn,
dme (R) Hg‘}:ﬁ‘m‘ Zayen w@aé@é widre  (abang) - D8Sordy
0wl Woak vih I5p emdroh suErudin Johl.
\M/S, R et fodole S & R L5Bodd.
(2) S8, Roedn =SS R DE00DBE.,
(3) S Judn =R Sy,
(@) 8, R Bude S8,
Hough Wark
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54, Statement {8) :  Super pusition nages are formed in t_hc nocturnal insects,
Reason (R) 1 The ret.inulat: lie immcdiaw.l}r below the vitrellae and crystalline cone,
these are surrounded by retinal sheath shich absorb the hght rays,
" hence, super position images are formed in noctyrnal insects.
The correct answer 15
(1} Both (S) and (R) arc true and (R) explains (S).
{2} Both (8) and (R} are trus but {R} cannot explain (8).
s #:#Unly ($) is correct but (R} is wrong. r
(41  DBoth (S) and {R} are wrang,
Fowe (B) @ Swedd Sasnd® arhd draEhs Lﬁ:@i)ﬁm‘mbﬁj&h&.
sOnv(R) ¢ dds Sose 3@0%&‘::.3#‘;"-‘ 'ﬁﬁ;&?gé Feren, HED Sarek el
$omudide wRBd o ST Hodore, e gy S|gdee uﬂvgiéu
Hodetn. ad 5ol Admrud |dirod IrdHf and P8dowrod
Deﬁgr’:ﬁﬁ:‘:&.
2B lrgEnin
(b (5) S0 o (R) e, wbol (8) w (R) <08 o,
() {8)Dooie (R Jesiu =20 (8) % (R} andodd.
@ (8] Detn s (R) S5y I
(4 (3) oBoin (R) Sudr éﬁé@‘}}.
Rough Work
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55,  Mauch the following | |
' Set-l . ' Set-I1
A Pallen basket - L. Rutterfly
B. Mseudotracheas 2 Laceifer lueew
C. Shellac 3. Mosquily
D Dution’s membrane 4, Musca
F Well developed galea 5. Worker hee
(S0 iR 28 RO,
Sads-T Heag-1E
A PErG whes . L berEE Do
B i g s L 2 o8y v,
C. Sk § kTR -+
D ::'wd:PE 631:50 4 Ly,
K e eD5)Y Bodd ??Em’r 5 Er® Sarfes
The correct match is )
RBohG ud
\.H‘J/A 5 B-4 c-2 D 3 L-1
{2) A4 B 5 C-3 D-2 E—~1
3 Al B-35 C-3 D-4 E~2
4 A-3 B-2 C<4 D-35 E-1
56. The larval stage of a harmful inseet causing a caviry like pathological condition in human
subcutaneous tissue is
(1} Waiad _ {2)  Nymph
Magget . .-~ {4) Wrigpler
Srbhn wtybiod Smererdy 80 avgd JonodBd Libved GG L8l
Sa¥d dogld
() Sow& SR ) B T
Eards , {4} 5&5
Rough Work
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57. The average trophic efficiency of transfer ol cocrpy from ong trophie level to the higher
traphic level is callad

(1} Assimilation elliciency (2) Exploitation efficiency
Linderman’s trophic efficiency rule  {4)  Gross primary production
2.8 Y Frow R0l Gy D7 Jrond 3 DUPo salg Bomidd o
b, o
(N Srgohde riudeo (2)  |ferd FRggo
M@cé&&aﬁﬁ (P25 JpRatly drd (4 2o | BahE GerrnydR

38. Trom the fullowing fish, identify the one with 2 aglomeruiar kidney
{1y Sphvrna {2y Tilupia (3} Cirrhinus M Fxocoetis

B B8 ¥y Bdod® aristirert dr|# Zodis e DR MG o,
(h oy @ Gobote (3) 2gED D8

—_ _——

59.  Wild life conservanon amms at .

{a})  Maintaining the ecological process.

{h}  T'oenrich the wildlife diversity with exotic species.

(e Drovenling migration ol spoeics.

(d} Maintaining the diversityoflife.

S| Dodim {.fi-{gl.Fﬂ"*DJ

fa) Rarddo 2B DRHILI® Lo G _

(b)  sEgErewe dloreldy wRper S erted bodrolodto

o] grade Laded Jorboddo

() &Po Jdgrgey ForAoddo

The comect stacinenls are

NIEToRY SM AL

1y @0 2 G, 3) () (@) vt @), (@)
Rough Work '

J0s



AM 2008 A

60, In mammals the sccondary palate is formed by the union of

{1) Premaxilla, Prerygoid and Squamosal bones

{2}  Maxilla, Quadrate and Palatine bones
\_(3{ Premaxilla, Maxilla and Palatine bones

(4) Premaxilla, Quadrate and Squamosal bones

Lorod® arof & o Yoo dod JG i,

(1) =zofs Procge, [Halroh Y o0 0% %“&“‘E

(2) wmoflgey, La’:mcaaﬂfg a8 oin Eﬂ@g'{g
@/aoﬂsv wrovees, aofdor wbok erugh

4) wmods Prurges, L?'.Jﬂcz.:‘a‘.;l sBofy ?iﬁa_ﬂ":q.;l

6l.  Which of the fallowing are trug o the prototherians ?
A.  Pectoral girdle is associated with 17 shaped interclavicle.,
B. Mammary glands are modified as sebaceons glands.
C.  Pelvic girdle possesses epipubic benes.
D Verlebrue are with epiphyses.
The correct statements are
Aand C {2) AandB
(3 CandD {41 Band C
|PEBoAr EYod Tond BOGLE ppeBD Y
A S8Epod T usel) wodd&d Lo
B, S50 |foges @by Dol 88 |duduer 28185,
C. [Fbpods® Ed?'.p.)aa‘;g chofer Eofy.
D. Snyriof Mphie Hotros.
POGRS argoey
A BBk C () AubofoB
(3 CHdolo D {4) BawbalnC
Rough Work '
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63.
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Swdy the (ullowing table

Subclass Skull Exumple

A Anapsida | Anapsid_ Hatteria
B. lehtbyopietigia Synapsid Pelycosaurus
. Synaprosauria Luryapsid 1 Plesiosaurus
| D. | Lepidosauria Diapsid Cotvlosauria

Lnt

Bols étg%& wﬁgoﬁém Saiudn.

& Uelics B SR 3;
. - ]
= e, S ?'\-\, '{"Q
A e Sl bgafﬂoﬂ
i n§rpiealr NG OB GD
R T ctrbirinys | | | BedEnaos
', | cadiroar Gotrin G oS 3008
|

Which one of the above 1s cormect cormbination ?

DT ds® Dodul Suans O& 7

Study the following features of a fish ;

A, ltisacrossopterygian fisho B. Itis found in the river Chalumnae
(. It does not exhibit aestivation. D, Itisan urceotclic animal.

Which of the above are truc 1o " Neoceratodus" ?

{1 AandB {2y BandD ‘(Jj/AandC (4 AandD

1Bods BT & 6 20 vEer o edgaito Fokity,

A ad wd |[Sarybacts @b

ol Sodnsh & SO,

56 (il e dudedi 00

D, abdel chreEBsE &l

2 8S" BRI Db HTS rgrzen O 7

() AZOoB (2) BHOuwD 3 AHBaC  (4) AS00mD

0w

Rough Work
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64. The macromineral essential for the [ormation of insulin is

{1y Magnesium {27 Chlorine
¥ Suiphur (4) lodine
S dS adyBE aridd roRiis oly irego
iy Riyaobo (2) E8s
B onb . (4) weraS

65.  In rabbit, (he two fibro-elastic strands of the larynx extend herween the

M Phyrotd and arytenoid cartilages
{2)  Thyroid and cocnmd cartilages
(3} Santorini and thyroild cartilages
{4)  Cricoid and tracheal cartilaginous rings
Doder REDILE’ 08 w8 PBFHE cinind $OAS SosPes DE e Tebod
g5 Uk,

\_(J'j/ gorond ol (H5's &ugt&:@;;gam
(2) B3ooud Hdok Tegrond m;,ﬁiwhtgsm
(3) &od’SN Lok Pusvnk f-u;,da@égam ;
(4)  Buwond wdad srofare Ka;;j{ﬁ:-u“?g SEoimey

66, The artery which supplies blood to the pericardium is
(1} Dirachial artery (2} Coronary arivry
{3) Vertebral artery \{,4}"/ Internal mamnmary artery

Eradolrhdn USSRk S8Hae Dk Kkl

{1}  erdey Sfd (2) r‘.ﬁgé WS
(3} & 550 N7 gl T T ety
Ruugh Work

3k



7. PRead the statements "

A.  Pregunglivnic nerve fibres of I, VI, TX and X cramal nerves are a part ol the
parasympathelic nervouns system.

B. Vv, VIl IX and X crantal ncrves are mixed porves.

¢, Trochlear nerves are the largest cranial nerves.

7. Abducens nerves are motor and uriginate from the gasserian gangha.

Which of the ahove staternents are correct ? \
(1 Aand D Aand B {3y BandC {4y AandC

S Trgmg e wCERN. _ ‘
A NLVIL DX, X §@ve srde o0l Hod Yrdy o8 Sodien D D8 s
Bl ég:b;geﬁg 27 S
V, VI IX, X S arden sy ardsw
C.  @°8uif e 88 2 €20 Fdw
wanREy mes, Tw)00hd & Hod wed 288 Tet ke
3 T8E H0ED FrgRg w7
(1) A&0okD (M AdecB  (3) BibabC (4 Adsonl

68.  Study the following tabie .

Endocrine gland Hoymone Deficlency disorder
A Neurohiypophysis Vasopressin Diabetes insipidus
. Adrena) corlex 1 Corticostervids Addison’s discase
C. Parathyroid glands Parathormone Myxnedema

D, Thyroid gland Calvilonin Acromepaly

The correct sct is

(1) BandC (2% AandB {31 Cand D 4y AandD

1Bod HeED edgalino Doosw,

[ wodrd Wb ' o) Shg5rong Tef ]
A S8t Eﬂ@‘jﬁhﬁ TR RN | SR s aﬂghdﬁ
L. ésﬁ.‘;a‘a;ézr VLY L0 E‘E? :ﬁgwwﬁw il ag b
C. Wty i Lﬁm::-i:aﬁ palerlon 5‘%5 " a8y e

PR 1508 EENGAE REE

DBOLN

W) BooowC 3 AdbakB (3 C&BofD (4 A¥OawD
Rough Work
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69. The renal fluid isotonic t the cartica! fluid and blood is found in
{1) the collecting duct and ascending limb.
{2) the distal convoluted tubule and ascending limb,
4 the proximal convoluted tubule and distal convolured tubule.
(41 the asvending limb and descending lumb,

SES0HS, dop e |SEhut Shrgd fo by (Bko aod (rode
(1} Dopldrn oo, o't aridray

(2} dror|l Hoddd 0¥, ubited ey
U 53 Hodd oo BE, S|l Hodld 08

(4) w8fird o iy, oni e dud

+

70.  Study the following :
A, The aceumulation of pyruvic acid in the muscle causes fatiguc,
B. ATP ‘is resynthesized in the wuscl¢ by the phosphorylation of ADP by a
phosphagen.
(. Cor and Ceri ¢yele ocenrs in the muscles.
D.  The phosphagen in the vertebrate muscle 1s arginine phasphate.

The correct set ol answers for muscle contraction is
(1) AandD (2) BandD 3y Cand ) \‘(A‘ﬁ/BandC
[Bod avild) efgoabho E:‘oﬁéu.

A, Eod8amS 3o udpin ::o-:::.ulﬁ;&.u P wedd S,

B. Zod8ind’ ADP, $rdfyus by SR 0BRS 200 ATP DRI OT DR,
. §8-58 Swoto Soddhvest aditis.

D. 2EAdsee Lodorod uhildd #fa;jdf i &3‘“;&5 Ao,

£uisE DO SEd DonofioD POGHY warme Bl

() A&OOmD () B&SchD () CHBcaD (Hr BdoabC

Rough Work
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Study the following :

A.  Testosterong influcnces the male secondary sexual characters.
B.  Cestation pericd in rabbit is approximately 276 days.

C.  Bulbourerhral glands seerele o vaginal lubricant,

D.  Placenta secrees oestrogen,

The gorrect answer is ,
Aand D {(2) DBandC (3} CandD 4y AandB

1208 &¢I edgando o,
A PR Hgdad Bond eferu BIoS [herDefo FHaknbs,
B. #Hodexd® ﬁmaé@ SO0 suard 276 Seren '
C. 2 o3 SS Hothe TP Jrd sy & o,
D, zoolep éa@*jﬁ‘ﬁh el Lo,
~O0LS warae B,
Ad8cfan (2) BXbosC (3} CHhbowD (4y A &:8cmB

In guinca pigs black short hair (BBSS) is dominant over white long hair {bbss). Thuring a

72.
dihybrid cress, the F, generation individuals ‘with the genotypes, RBSS; BbSS, BBSs and
BbSs are in the ratio of
ficd dodedt, Hevd), g Fire ofmro (BBSS), 8o S 5fire ©5E W (bbss)
PGS duredy £OR Hodud, D¢ Josdn [Ddirmre, &sauﬁ o ehEd dpe® Bﬂ&fié
DodEd® BBSS, BbSS, BRSy &uBa% BbSs mg Srare VNG
{1y 9:3:3:1 (2) 4:2:172 (3 1:2:1:4 \;,4.)/1.-2:2:4

73, In heterozygous condition, the individual expression of both the alleles in the phenotype is
excruplilied by
(1) Colour blindnoss w2Y” AB blood type
(3) Rb factor : (4} A and B blood types
O ey £0¢%,  Qod: ofulfy  D¥enmren Gy Brdod® Sréa|Bomn
Hp 8 EPORGDOED Goirdn
(1) %5 wodssesn 27 AB 8% Sy
(3} Rh s=5%in (4} A =Dalv B o¥ S

Rough Work
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74, Crossing of unrclated pure breeding animals of different traits within the same breed is

called
(I Cross breeding \.@1’/ Out crassing
_ i(3) Close breeding (4}  Specics hybridisation

2B (Paudodt (same breed) 2% 5w FodR moeamﬁo oo 55 ead e ks
Qo) & wdiory :

(1) 570 D3k wotrd \M@L@E@%uﬁ wuli:ﬁtb
(3) o8 hird Dalho vol i (4)  @red DO(Bro0 @l

75. The strand of DNA acting as template for m-INA (ranscriplion is

A, Coding strand B. Non-coding strand
. Sense strand D.  Anti-sense strand
Tha COITECE ATEWET 18
Aand C _ {2 AandD
\;}V’ Band D {4) BandC
n-RNA B0 fard dofomr adalrdd DNA &9
A E&cf &% B, oS Eauh &t
C.  gdSowodd & D gd égaﬁﬁ s
ﬁﬁ@iﬁ 2l
(1 AsbolC 2y ) AsBai D
\,gs-j"ﬂ Sobots D (4y /B aubasC

76. The peculiar primitive animals found in Madagascar but absent in Africa are
(1) Elephants (23 Penguins
Lenwrs {4) Echidnas

Sothrreiy BE° S g EE}JGD obsd" 8, La’:ﬁgéé SORN |grBens podiiyen

(1) %k () Dohglen
NS @) dfame
Rough Work
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77.  “A brief reduction in size of a population dug 1o namiral calamitics usually leads to randcrm
genatic drift.” For this statement, identify the carrect example from the following :

(1) Human population of Pitcaim Island
Polydactylic dwarfs in Amish population

{3) Long necked giraffe

(4) Industrial melanism

588 Bdborge Dok of aver LOErnod” Sbor w0A Sdid g eyt
BERGS |AD% o0 S0, A0 MWooT dordrdni 808 A Hed MBoHEe.

(1) 2SES0BS el wargr
\Q']/w;}m aargrd Ho JEnd r_wuf‘bwgw EOA% gt
(3) ES% Rd ADAS Bod

) o ﬁ"g:“.ﬂﬂéﬁﬂ

78. Study the following :
A, The cells of malignant tumeoers divide erratically.
B They are malignant tumors of epithelial cells.
C. They are malignant tutmors of organs thal onginatc [Torn mesvdenm.
13, These tumaors are found in orpans such as spleen and lymph nodes.

Which of the above are true forangio-sarcoma ?
{1) AandB i2) /BandD Aand C {4y BandC

(Bod Sl sdahio o,

A 4rDajef arghlSt dorw, DaboBn dirdor $n Defud ko,
wd &b ored’ J8ND A&7y ofi ergtoben.

C.  wdddpdzso wod J6yd sickare brOmoed arginben,

D. o oirie oo Fads Smpos’ Tt toregin G,

=

| P TO5° wordlrd 8 dorth HOGLS srgmen
(I3 AbofdR {2) BdoakD -@j’/aésaomc (4) B®uboC

Rough Work
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79. Sty the foliowing pathogens :
A Yersinia pestis B. Borreliasp.
C. Oidium albicans D Micobacrrinm feprae
F.  Haemophilus gallinarivm
Which of the above cause damage to poultry industry ?
(1) AandD CandE
{3y BandD (Y Dand E
&8 (Bob b:ﬂg&'ﬁéé Zed uqﬂsoﬁéu Fodud.
A aDOyDoke WD B. &oDoflr e d
C. &8 w8388, D 2% ibar g
E. ZaErsoedmidscdo
o o0 E”Ef DOy E Bt Doty
e
1y Aol 12 ' YarT Ciebolu B
(3) BabBobD (4} \DauBaN E
R The complexes formed during vomane camplex mediated hypersensitivity are removed by
{(t} Cosmnophils and Tc cells
(2}  Monocytes and B-lymphocyies
: Fasinophils and monocytes
(4} LCosinophils and basophiis
wéu@'?’.ﬂgw ﬁugfﬁ ?'.}Jcﬁga’:lgég }_J_=5“:-5 ?JQJ&?M@G bﬁﬁl:]&éu ﬁugg"w& S oRoTD
(1) Ha0Fody Dbak T Sores
() &y docky B-Dogt e
L7 acunSosy hoah BrERs
(4} AGLLEDE bod TIPS
Rough Work
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PHYSICS

8t. I power (P}, surface tension (1) and Planck’s constant (h) are arranged so ihat the
dimensions of time in their dimension formulae are in ascending order, then which of the
following s correet | '
i‘rm:uﬁgcw (P}, ey éu (1) SoDod: @ﬂos wmoém (h) o2 orbod od Do

JeidnerS® oy 8 sbiire |Eos ?é}cfa‘é.,kﬂn B & Aotarld® Eheaunibi?
\m}n T.h° {2y P.hT {33 T,P.h (4y T h(P

o

- LI . T L o —> ) .
82, Three forces A={i1 ] kKL B=(1 -7 -3 k)and € acting on a body 10 keep 11 1n
-3
cquilibriwm. Then s
af B Diwarpd S &ogeb A i+ 7+ K ¥ - 2=+ 3 k} LBak € 52

Bofnsy . wid € Desd
WG A @) -3 3 34 @ 2i-3%k

B3, A person of mass M — 90 kg standing on a smooth horizontal plane of ice throws 4 body of
mass m — 10 kp hovizontally on the same surface, /1f1he distance hetween the person and
body alter 10 seconds 15 10 metres, the K E ol the person (in Joules} is

90 kg, |S&gom3 Ao a8 Bgh 2k odyn EBe Shrodt hoth Sotwp wwved 10 kg
BgomR Ko a8 X wd Sons D 8 Shrodginm dNbard. 10 DED 8taed
SRS, %p 38 dodlp drdty 10 M/ wond, u &e8 Hde 4E (TS o)

0.45 (2y 4.5 {3y 0.50 {4) zero

B4, A man s walking due cast at the rale of 2 kon/hour, ‘The rain appears to him to come down
vertically at the rate of 2 km'hour. The actual wlumty and direchion ol rawfall with the
vertical respectively are

2.8 foda St Nokk 2 km SM08 Shod, Difidnw Kowld 2 km Hfof |Boud
Dpdtiay HdDoord, Sdhn wlor Sidn 0ol wb DD U engn s
ToX B HEHm
[n} L kY
\g»j/ 232 kmph, 45 (2) N kmph. 30
(33 2 kmph, 0° (4} ! kmph, 907
Rough Work
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The object at rest suddenly explodes into three parls with the mass ratic 2 0 1 |, The pans
of cqual masscs move at niaht angles ta each other with equal speeds. The speed of the third
part after the explosion will be

Dye LB ) 28 Sy drordore (DO e Mo JTonds. ¥ LG
Sy ovhe JRpd 201 SEel |38y orhoe dw Jod Rnljen SErD bd V & a8
rRE S vanorne Salredt fard w5y Gdns S

1) 2V UV A2 (33 V2 (4) 2V

-------

Two balls of sane mass each “m’ are moving with same velocities v on & smooth surlace as
shawn in figure, If all collisions between the masscs and with the wall are perfectly eiastic,
the possible number of collisions between the badies and wall together is

W W
i M
Vi re ey
DErD (@Rgord 'm’ de Bodk pode Sednd Grebd Ddiwnt v SHes w58
wuddoon hofrdodinbind. v wudits O & yBRR i iy widrarw

LBg-Bsy wowdiT, wodiey ok AE dode =i dvdo effroms Sowg
(1) 1 (2) 2 33 (4)  inlinily

...... oy —

- [ L] . I 1 : :
A body of mass ‘m’ strikes another body at rest of mass =57, Assuming the impast e be

inelastic the fractian of the initial kinetie energy transiormed into heat during the contact is
m (ERporR fe nd SRR SPOOT Gl % e o7 He STE LppE 4ELD.
wiiirdo ebigbso eond OO ABIEE whom b griio

7 0.l 2y 02 (1) 0.5 @) 064

Kough Wark
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A body of mass ‘v’ is placed on a rough wooden plank. One end of the woaden plank nsed
fram the surface of horizontal plane keeping other end in contact with the surlace. The hody
just starts slide down when angle of the plank with the horizontal is 307, At thal instant how
much force parallel 1o the plank is required to stop the slide down of the mass 7

m (EHpom® Mo af Dy No% Q5 0o @osudsd, Q¥ Dof 8 Whl dordy
svdbin Fow, Bodh Ukd §B8erd8 30 Blfo Enod bE Thlkd, v Ly Bodd
e fto |ardofolon. sy v U8 Svrad JrodSm Jod werdy [DaRRew
v SO wOBow iSR! TncovreCt  oplions.

(1) mg @ 5
RE 1

3) 3'2[ mg @ /e

89,

Asserfion (A) : A ball commected to a stong is in circular motion on a fnctionless
horizontal table and is in equilibriwm. _

Reason (R} ¢+ Magnitude of the centripetal force iy cqual to the magnitude of the
tansion in the stonp,

The coreect aBRsWer 15

\j’g)ﬂth (A and {R) are true and (R} is the correct explanathion of (A).
Both {A) and {R) are urue hut {R} is not the comrect explanstion of (A).
(3) (A)istrue but (R} 15 not (rue.
(4Y (A) I8 not tue but (R) 15 trie.
DAdss (A) 1w ooeld Koordo Ul wod e B Jewlrodd 21e3 e
Hyesey Hdod® Yod Hiven PBE” aod.
8o {R) : wz’,)'ﬁutiﬁ OO tﬁué& SBdrme crdhondtl éﬁlﬁgrﬁa obarmead
e,
200D BRrgrnn
(1} (A) 00 (R) Doch 2idy $0Dokn (A) GIn) 98 wont Tbdem (R).
\.(2)’/(!-‘«.} 00 (R) doth 2y 5 (A) Ginsy D0 eow Jd (R) S°E3.
(3) (A} 2Ry 5 (R) &y
(@) (A) Sy =2 (R) 22y,

Hough Work
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Circular dise of mass 2 ky and radius | metre is rotating about an axis perpendicylar to its
plane and passing through its centre of mass with a rotational kineliv energy of 8 Joules. The
angular monentum in (] — seel is

2 kg o |dd 008 ol | bd wgdefin tio 28 jorsed OY dorli vonorm
LCS‘S:-ET%‘ Eat’_"no oo faf:'i? soda ».'“55}@“5 3] ﬁi’%%_éﬁéﬁ |&fswen0 Eﬂo.fxfi:}f:ll&. ercsEh
o ot ey Sie (Jsec) of

1y & V- o T 3y 2 CI
1. if the Farth shooks such that its density becomes § times to the present value. then the new
duration of the day in hours will be
Pl Ging; Jeofd mbh &) Jenid 8 0f ey el Ho8 LD, ek o8 B
S eg s Aobodt
() 24 @) 12 6 (4) 3
92, A pirl swings on a cradle in siting pusition. I she stands, the time period of cradle
decreases
(2} increascs
(3) remains constant
{(4) frstincreases then it remains canstant
2 ¥ 08 sohes Erdinn LS. @ wrdE Joodd GhEo v Mabe ol
SR _
N ' By viosod
{3 %ﬁdi}ﬁ“ =Tl lolw! 4)  Toch DON Shard bk,
93, When a wire is subjected to a foree along its length, its length increases by 0.4% and its
radius decrcases by (1.2%. Then the Poisson’s ratio of the material of the wirs is
=¥ 385 e o o Berey ([BerRolit ol rdHEt pdibde 0.4%,
a‘gé’;‘ﬁué{ &0de .2 % wondiF u 85 Sod SronerS g
A L @ =
(08 203 (3) 02 (4 01
Rough Work
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A capillary tube is taken from the Earth to the surface of the Meon. The rise of the liquid
column on the Moon (acceleration due to gravity on the Earth is & times that of the Moon) s

\Qd// six times that on the Earth surface  (2) % that on the Earth’s surface

(3} equal to that on the Earth’s surface (4]' ZET0

G Mol a8 B f8h ol % BLED It @ sS4 DESTY Lc‘ésﬁ,goaao
85 (2L i tothds Sedmo Do Hithdg Sedard8 6 Téw).

L7 ginds D &y A 6 Bip Sobwod.

(2) <ol abed ey QE5° 65 Hody Food

(3)  abred o by SEgouo I SErHOM &odnod

{4) F&Pégaﬁ:éjéim&,

95, A solid sphere falls with a terminal velocity ‘v’ in CO, gas. [f'1t is allowed to fall in vacuurn,
(1} terminal velocity of sphere = v ~{2) , terminal velocity of sphere < v
(3} terminal velocity of sphere > v .y-}/ sphere neverattains lerminal veloeity
2 o Befo v sodg Fn0s CO, rotnips’ |Bod Dihiéod ud Hido kridgod® s
éd&agﬂn Fud ande
(1) Keon wody AR =v (2) Retw wodg Jeftw < v
(3) R s odbe Bt \(.dr]’/ﬁ‘f#‘éuéﬁb wade A & o

96. A two litre glass flask containg some mercury. Tt is found that at all wmperatures the valume
of the air inside the flask remains the same. The volume of the mercury inside the Nusk 13
(et for glass = 3 x 107%/°C, y for mercury = V.8 x Lot
Dok Dbt ¥ ¥ me S Fud PO $HR. u.ﬁl adprde 2§ FH
&y O Sy PR H0rmdn Sdederr adybond RS do SIS Qb
TS T '
(rrardra —9 x L09°C, epdddnw v =18 x 10 #°C)
(11 1500 c.c. {2} 130cc. (3) 3000c.c. MBUU ¢.¢.

Rough Work
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A lead builet, of tnitial temperature 27 “C and speed v’ kmph penetrates into a salid
object and melts. If 50% of the kinetic enerpy is used to heat it, the valug of v in kmph
is {for lead: melting point — 600 K, tutent heat of fusion = 2.5 = 10* J kg~'; specific
heat - 125 J kg™t KTy :

EJ

£ Wiy £ars ot FD &8 27 °C. w ol V' kmph Io8 wEHBS LG
;a:&..a@éﬁmg Bl dion | Sagdios. o fod Kb %écﬁ‘ 50% S 36
IMISHE ﬁamcﬂjﬂﬁa}rﬁé v Devid (kmphed®)

(P Lgéba_ﬁézb s = 600 K, DS Mlhe = 25 % 10t ) ke
WA TI25 Thg Tt KT)

(1y 3600 m/?sﬂﬂ (3} 1200 (41000

(ne mole of an ideal gas undergoes an isothermal change at temperature’ “T" so that its
volume'v 18 doubled. R s the melar gas constant. Work doue by the gas-during this change is

Incorrect CPLinng
efid T 2 ol Srd »88) oy ord b D0Srno v Todoson wﬁi}ggﬁp F-
coir| e -:CI“SEE{JD Bobody. R o d ool ETD%D. &5 :5:“&3;)55 oy Diad DO

(1) RTlog4  {(2) RTlog?2 (3 RUlag (4) RTlog3

10 e ol ee al =10 "C s mixed with 100 gmol waler at 50 °C contained in a calorimeter
weighing 50 gm._ {Specific heat of water —'| cal. gm | °C ' 1 atent heat of ice - &6 cal/gm,
specilic heat ol e = 0.5 cal/gm™C andspecificheat of copper = 0.09 cal/gm™C). The final
temperature reached by the muxtre is

50 SHeoeR O Lo BER0 ool 50MC B¢ 100 gm JE 81 ¢, -10°C ¢
Aex 10 gm & Soodd B basdks’na &Fdﬁ&ﬁa"&.{nﬁﬁﬂ DR RS - Leal gm b O
i To V! @Sbﬁfﬁ X =80 calipm. Lo SFESEN — 0.5 caligm/°C oeh DAL —
0.09 cal/gmi®C) won® JEdidn dlud) &8 &8

(1) 255"C (7). 300°C P38, (4)  40.0°C

Rough Work
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100. A body cools from 70 °C 10 50 °C in 5 minutes. Temperature of surroundings s 20.7C,
Its temperature after next 10 minutes is

2.8 B0 5§ Dadarod® 70 °C Hod 50 °C & Semdibon. bobduwe Gind 20 *C/
soud 208 10 DDire Somd v S ais

(1) 25°C \Q—)/;U“C (3) 35°C 4} 45°C

101. The frequencies of three tuning forks A, I and C have a relabion o, = ng > 0. When the
forks A and B are sounded together the number ol beals preduced 18 n . When A and C are
sounded together the number of beals produced is ny, then the number of heats produced

when B and C are sounded together

A, B ndals C 433 dours 27garge Wogy DoFodion ny ~ Ny > N Aobals B
338 Somrod SchodEiNHd: FnodIre Dopg ny, A Dgoh O 8 dowrsd
Lodbod HEHdk: Inyodare Sogg Ny 23 B 200 € o Eoneddy Anodsrs
éoa}g

n,+n '
M ntn, () —5 GF -0, . @) n,en,

e

102, Two sirings of the same-malerial and the same arca of cross-scetion are used in sanameter
cxperiment. One is loaded with 12 kg and/the nther with 3 kg The fundamental frequency of
the first atring is equal ta the first overtone of the second string. If the length ol the sevond
string i 100 cm. then the length of the first string 15

2 éc:ﬁcgoﬁs dairdy Dabudd Hird éauﬁgﬂz:]d Frogo Kes Dod BRwds Svmelaiads
fedtrdod® abGrAcDar. 28 868 12 kg v geddn, DEE 885 3 kg © o G
Feralomrd. Andd &if [Pras Srdahigin Bodh B TS wd Heorls Ly,
Tod & iy 100 cm wowd, 2wds 85 2rdd

-
{1 300cm (2 200 cm D) 100cm (4} 50cm
Rough Wark '
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103. Wave theory cannot explain (he phenomena of

A, Puolanization B. Diftraction

. Compton effect 1.  Photoelectric effect

Which of the following is correet ?

(1) AwdB {2} BandD (3¥ Cand D (4 Dand A
d8uff Ugrodo s’ JBBoUEN K)hghali

A @yRma . - B gRe

€ oo hbduw D. " Dogd HBEH

&1 |30 o’ BOGREE W8 7 |
(1) A&BofnB (2) BRdokD  3¥ oD 4) DoolrA

104, In Huvgen's cye piece
{1y Chromatic aberration is not ¢liminated
{2y  Spherical abeeration is completely eliminated
(3) Focal length of field lens and wye lens areequal
{4) Cross wires sannot be providad Trceorrett a¥lia s
iy o8 Ehgos’ ,
(1) &g IHFdo Tohodudd
(2 Fhob o Hrom Eofoduddiod.
(3)  Epb et Mbai g LS FrEgoduren Shriin
(4) =g Sfo &DRrAoITIN,
105, Solar spectrum is an/‘example of
(1) line emission gpeetrum {2)  band absorption spectrum
\_(.3‘)/ line absorption spectrum {4) continuous emission spectrum
28 g D AL agrlirdn
(1) ooy dp= 2gddo (2) A S ng dbo
' ».Ga‘}'/ T To g deo (4) @D-ﬁ‘)él Ao B¢ Bvo
Rourh Work
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106. In Young's double slit experiment using two identical slits, the intensity at a bright fringe on
the sereem 15 1L If one of the slits is now clpsed, the intensity of the samc bright fringe on the
screen will he '

obofi ot DHOE |HAIrK0s’ By HirdDd Tod HOBCH GHGmRODLE PG BED
Cogdanol IS Gy BHS T abyth 28 O hrdEdd 85D« Kdlol HyE
LS |

(13 1 {2y 12 mrzt (4) é

107. “I'wao bar magnets are placed in a vibration magnetometet and allowed ta vibrate. They muke
}5 oscillations per minute when their sintilar poles are on the same side, while they make 20
oscillations per minule when their opposite poles fie on the same side. The ratio ol their

magnetic moments 18 Tneotrest ﬂ}f ions

god% woldmod Hrdiwd’ dod Sogrofidmoster ol Sobodan Dwi.
wobdryod Hwrd yErw oF Fp eidDypds 8l DS 15 Foorey Jgew.
Db 08 Jard i w8 B SO B uruE 20 Fomrey daeow.

o dogroaddorre wriste JNNE

() 7:25 (2) 257 (3} 25:16 4y 16:25

108. A short bar magnet placed al a certain distance from a deflection magnetometer in tan A
position produces a delleetion vl 60°. The magnet is now cut into three equal picees. IU one
pieee is kept at the same distance 11 ‘tan/A* position trom the deflection magnetomeier, then
the deflection produced is

Tan A Qﬂéﬁmﬁ" sd add 28 g dowrublgudinom oIhEd eoldm ed Srigo
ook Bod drdind” eolidid 60 A0 ebbdbo SnEolni. w e o) nddil
sy Mard) BArdd g wone dobadnh. ©ofE’d wf foX® wdddd
woberped Lrdfdv wod wod drddud® TanA Jbies” oROyipdm eo

Kenrdaly edbydin
1y 10° (2) 200 MJ (4) 6o°
Rough Work '
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109, A charge “Q” is placed at each corner uf a cube of side ‘a’. The potential at the centre of the
cube ig
' Bhwo Hu ¥ bk G HS R Sle ‘Q e 'HS*FK)Q_ Goward. uw by
’ autﬁﬁ}} ﬁ(f} ﬁﬂﬁmuﬁc?fﬁmé :
3Q q 4Q 2Q
N0 @ T wr “)

T E,a 4n g45a \ﬁ Tepa T e,a

180. A charge q is placed at the mid-puint of the line joining two equal charges of Q. If the whole
system ig in equilibrium, then the value of g iy

o8 % & Q wao ro Totk DefsporaTod £ Toj Saghe Dot B q Wik widlo
GOl wdpd o JuEo HpNp Jee PBS” Gol g Devd

m -3 @ +3 WQ @ 3

T pr— ——_— e ——— -

111. T and V are respoctively the current and vultag:: na metal wire of resistance ‘R*. Two [ -V
graphs at two different temperatures T, and T, are given in the graph. Then,
|

L

T,
T,

»y

R 3850 fiv 28 S and" g8 Harirdus, ST St | Lbak V. 36 3%
agifides T 0ok T, o8 [V [rHesdnos® Srdaddd. uipd,

(H T,=T, 2 T,>T, AT, < T, (4) T,=2T,

112, A prﬁjectnr lamp can be used at a maximum \-’ﬂ]t&gﬁ: of 60 ‘v" s resistance is 20 0, the
scries resistance (in ohmas) required to operate the lamp from a 75 V supply is

28 |PBEFE wonys dDGrNoSSRD HEG Fg2 60 V. ol 350 20 0. v 2ayd
75V 255008 ad@rhowend G dodiuls 28%0 (LHes’)
(12 (2) .3 (3) 4 W5

Rough Work
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113, A heater coil working on mains produces 100 celories of heat in a certain time. Now the
heater coil is cut into three equal parts and one part is only used for heating. The quantity of
heat produced (in calories) in the same time i

Mgl BoSyE BY T u Lotk B4 Fodb Hocbodt 100 Svbo &g Jiyh. »
it B 3 5% ermen Bh wois® o dd drEd 38 JanerIE aDRrNY 88
oo’ ulod aBid (Fvbes’)

30¢ (2) 200 {3) 10073 {4y 20043

114. A circular coil of wire of radius ‘r’ has ‘n’ turns and carries e current 'T'. The magnetic
induction (B} at & point on the axis of the coil at & distance \ﬁ tfram its centre is

Ng ovyeck fonS
T avg:évg%ncj n ﬁ‘é&@%@g?ﬁg@ﬁ [ 26g8 [Rerdriy ainb. o SH WG sHmD
Fogo fod 3 1 &rdod® 3D Doty B waby o (B8 (B) dend

Hp In My In o L In
U @ g ) Ter 4) “;f'zr

115. The norh pole of a bar magnet is moved towards a coil aleng the axis passing through the
centre of the doil and perpendicular to the plane of the coil. The dircetion of the induced
curren! in the coil when viewed in the direction of thc motion of the magner is

(1) Clockwise

\(2(’ Anti-clockwise

{3) No current in the coil

{4) Either clockwise or anli-clockwise

28 Somrohdmofin Glo¥y G¥d Fkud w8 84 Py Sods vowor Sowr
oo oo b ofo Jowd SHEDH BONS, (2BS Jbogd Hardriw 0¥
Wb oddn BQE 0¥ foar Srtedind

(1) &g a%

wd K:‘n‘:g £y
(3) A DLS" DBl Dardrdn wodd
(4y Py &3 o wid g 04

Rough Work
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116, A transtormer has 1500 turns in the promary cold and 1125 wms 1o the secondary coil/If the
voltage in the primary coil is 200 ¥, then the voliage in the secondary coil is

ed DHORCYLY (Dbl doabod® & cods ﬁomg 1500, M &2 153@(55% al ol
K}uﬂ:ag 1125, \Je5aus Louhod® Eﬁga‘ 200V sondinds e Seahos® 55%525 e
{1y 100V 'WISUV |

3y 200V 4y 250V

-

117. An oil drop having s charge was kept between two plates having a potential difference of
400 V is in equilibrium. Now anather drop of same oif with_same charae but double the
radins is introduced between the plates, Then the potential difference necessary to keep the
drop in equilibrium is
Ko K}.‘izgmﬁém fu &8 8o Dodipln 400 V ?‘ééa Fohn Ao Tud dofe suCig
Golidnpd: wb Sher H0E° 208, agoy ogdrgo AR, wod Jdgoratin o od
Dard 8o DodiPn v doge Ry GoLRNPE v R E}}Eéﬁ G otae 8
eiiddnaly 45 Bihm
(1) 200V {2y 800V
(3) 1600V T 3200V

118. The threshold frequency for a certain metal js'v, . When a'certain radiarion of frequency 2 v,

is tncident on this metal surface the axunwn velocity of the photoelectrons emitted is
2 x 10 m.s™'. If a radiation of frequency 3 v, /1§ incident on the same metal surface the

maximum velocity of the photoelectrons emitted {inm.s ') is
af S8 sUog Fgan v, w G Swop 2 vy RPRDRgMn) 2.8 DEJoadn
Hésbomadt & 4H0duin Hod NhEooms Eﬁ*ﬁﬁ—oﬁmgvj"mw 1oz ol
2% 107 .t o Sl So03 3 v aPnnprmndy J58rhn HESR ot aiteany
dogreine 463 Sfim (.3 S |

(1) 2x10° (2 x 10t

(3342 x 10¢ : @) 3 %108

Rough Work
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119. The following particles are Baryons :
ke “ Nucleons and hyperons
(2)  Nucleons and leptons
{3) Hyperons and leptons
{4) Iyperons and Busons
& |Bob Erreo Dot
w/ Rreg S ol Mook wraorEe
(2) &rglalrds Ldoky B
(3) oo ook B

(4)  dovEe SBol ek

120. If an intrinsic semiconductor is heated, the ratio of trce electrons to holes is
(1) preater than one

{2} less than one

\Lﬁj/ equal to one

{4) degercases and becomes zera

parde asg srirSfud 38 ShaHds -:35’3'13 oz Dok dojgro duig <ind
(1) =44 g DEp

(2) .84 Eomy SEORY

w/ 8,588 HErShe

(@) # Krbpiord

Rough Wark

518



121.

122

f AM 2008 A

CHEMISTRY

[x]
The wavelength (in A) of an emission linc obtained for Li** during an electronic transition

fromn, — 2 ©n, - 1is (R = Rydberg constant)
Li** wofrivd® o8 Qug=d 0, =2 EEz wad np - 1 Sfed HOIGH Dobdpd
eodds sgrd Sy c¥y S0l BYskn Dod (A wd) (R - BERE Horosiv)

3 (2) T | 7R
Match the tollowing :
List-I List-11
1h . i

{A)  myr= " (1) Paschen series

(B}  TInfra-red : (i) Llactron total enerpy

© a=y (i)  de Broglie equation

(D) ;ﬁi_z | {iv)  Schrodinger equation

. (v} Bohr’s equation
1508 ardin 8 SESod.

| endige-II
(A)  mvr=3 @) | a5
(B)  Rordie (i) Woged o 18
(Cy & —-? (i) DR et
T (iv) . BOG S8 Sty

vy 25°6 DabESeai
The correct answer is / SBGI% Smeridn

A) B | (€ (D)
(1) () <G @y )

2) _Gin vy v
N3

(¥) (iy Qi) (i)
(4) vk, () (b} (i)

Rough Work

33§



A AM 2008 A

— i particle — ¢ parhcle aricle
fi particle - parucle . ppanicle

123, A

In the ahove conversion, which one of the Jullowing is not true 7
{11 A and D are isulopcs

{2y B and C are 1sodiaphers

{f%} C and D arg isobars

\Ld')'/'ﬁ and B arc isotapes

_ s —rpt Epmi _i
A_B__éeaé:a.}ﬂ o fm B &eash N

P e donufod, § 8ok eSSt 08 e T
{1y A, Do o F e

(2) B, Cw addoirpde

(3 C, D w e o

\LM/A, B cw odi& imen

124, The elements *X', ‘Y’ and ‘27 form oxides which are acidic, basic and amphaoteric

respectively. The correct order of their eleciro-ncganvity 13

YT 2 ad haresew R einoing, seouud mwboln &g lf:ngq:uﬁ e@g:‘:ﬁméa
DiyEEron. @l e Whgod) B DOTHY [Sdodn

(1) X>Y=>Z

Rough Work
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125. Match the following :

List-I List-I1
(Aa) BC/, (i} Linear
(B} Pdﬂr%l_ | (i) Planar Triangular
(Cy SFg {ili)  Tetrahedral
{D} I (iv)  Octahedral

{v) Square planar

808 U0 ud 26Scd

arfla-1 endar-J1
(A} BCI (i) Sdado
(B} Fdﬂrz‘; - (i) | GEpddes (Bhac
€y Sh i) Setd
oy I (iv)  ow ok

v) e ddeo

The correct maich is

,

ﬂ&@:ﬁ et

Ay B (G (D)

(I () Gy () i
2y vy Q) (i) ()
1 < g 1) S O B (1 B )
4) (v}  (v) /Gy (i)

126, The correct vrder of dipole moments for NH.,, H,0 and CO, molecules is

NH;, H,0 280l CO, wewayew iy |3rigo Jeodo 38 wowd |$vo

(1) NH,>H,0>CO, (2} CO,>NH,>H,0
(3) H{0 > COy> NH, - \ArH,0 > NH, > CO,
Rough Work
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127. 40 grams of a sample of carbon on combustion left 10% of it unreacted. '1he volume of
oxygen required at STP for this combustion reactien is

40 rdne sE)E Srad o dobrr vodmd®  10%  d&be adhtoa
DADIOL0D. F5 SIS WEgh STP & sdold uijas B0arno

(1) 2241 \Q‘f/ﬁ?lf 3y 12t (4} 448 ]

128. In a flask of *V" litres, 0.2 moles of Q,, 0.4 moles of st {1.1 tmoles of NH,and 0.3 moeles of

He gases arc present at 27 °C. If total pressure exerted by these non- reacting gases is 1 atm,
the partial pressure exerted by N, gas is '

{1y 0.4 atm (2) (.3 atm (N 02 atm (43 Ol am .

27 °C &V n HoErne So .l Qﬂ"@ac‘i‘ 0.2/ 3rde 0,04 Ardo N, 0.1 ard @
N1, S0 0.3 3rd o He aroloipey Sog). Sarobo 1.5555 Froda S Eroi Jb|dReo
Ty Twgo bibo o wirlnebb wodsf N, aroiuy Gvd)y arBs bawo

\L/u 4oy () 03 .;.Jepg (3) 0.2 demy (4) 0.1 ey
129, The volumes of two HIC{ solutions A[U S N) and B (2.1 N} to be nuxed for preparmg 21 of
0.2 N HCI solution
0.57of A+ 1.5!0fB @) 15tofA+i05i0lB
(3) 1lofA+1iofB 4y 0.75{0f A+ 1.25]0ofB

2 & 0.2 N HC! jmrderdy Sobrdy Hehard8 Seolbehd A(0.5 N),B (0.1 N) 3 Sod
HCO! |meiber o 3o H08meaawey

Uy 05BA+1L5DB ) 156A1058B
3) 15aA+1ER ) 075&A+1258B

130. When 0.1 moles of an acid is added to 2 litres of a bulfer solatien, the pH of the bulitr
decreases by 0.3, The buffer capacity of the solution is

Both D&Y b [oEerod 0.1 Arde elpind 5085 o 230 pH dod 0.5 L8
SNRB. o (o Sy AFsle] é‘&}tﬁﬂgu

M 06 2y 0.4 3} 02 N 0.
Rough Wurk
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132,

133,

é . AM 2008 A

Identify Bronsted-1.owry acids in the reaction given.
Bob S8 |2m 5250 eyl G:0ood.

[AL{H,0) M - HCO, === [Al{H,0){OH?* 1 ILCO,
(A) (B) () (>

The correct answer is / ﬁﬁ@é 2357780

(1) (A)(C) (2) {B), (D) mﬂh (13} 4} (B). {C)

The celt potential of the following cell at 25 °C {in Volts) is

(B0d Dok gy, fob FyEn 25 °C ¢ (Fepod?)

(Pr) H, | H* “ Cuy?! JC
(atmy | @o1wny oy I5Y
(L Cotricy ~ 047 v_]
-
{1} 0308 27 0427 (3) —0.308 4) 0.337

Which one of the following reactions oueur 4l the cathode ?
[Bod 28" &G 2 2bd Gy Da?
() 20— IL,OY 112 0,428/ (2) Ag— Agt+c

(3 FeXt— 5 Fe™ 1o W ot + 20— Cy

134,

AB is an ionic solid. Tf the ratie of ionic radi: of A* and B~ is 0.52. What is the coordination
number of B-? :

AB o8 ooirof Dindn AT bl B o wofrod ;:bgévg“t: D@ 0.52 wowd
B Ging), dhidgab dowg Jod? |

1 2 @ 3 (36 4 8

Hough Work
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135. The ratc constant of a first order reaction is 0.0693 min~'. What is the tme (in-minutes}
required for reducing un initial concentration of 20 mol Fri2Smal {77

28 Sk \Edrof Sdg Ginfy Ten Roroddn 00693 &7, 20 WS b o (o0l
regsd, 2.5 3rd.87 mdsh Sa08 ) Janareos Dok ¥ |

1y 40 @’ 30

3y 26 4) 10

136, A ¥ E{ " iy & first order reaction. The ininal coneentration of Ads 0.2 mo! 71, After

e
10 minutes, the concentration of B is found to be 0.18 mol £ I The rate constant {in min

for the reaction is
Ar) > By o8 (B |Edmo8 $¥g. A oIy priod mgs 0.2 2pd D L
10 Dfmdhow S$oad B S, mas 018 b7 & Ggy T Horosiw
{_mmﬁm—l} B

\E—kj"fﬂ.z.’,ﬂ?r (2} 2.303
(3) 0.693 @) 0.0l

137. 160 cm? of 0.0 M HCY and 100 em?® of 6.1M NaOH solutions are mixed in a calonmerer. 1f
the heat liberated is “Q™ keal, the heat ol ncutralization (AH) (in keal) of IIC‘rmq} and

NaOH,, ., 1s

100 emd © 01 M HC/ &00% 100 om? ©  0.M NaOH orier o gobrm Ny
geodo GRty JEBRG. HClsbah NaDH,.., © Sebsud oin (AH)
(8. subeat’)
(1) =10Q -@r/-lﬂﬂq

3y -1000.Q 4 -9Q
Rough Work
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A

Which one of the following reactions is an example of auto-catalysis ?
2 AsH; 3 275, T 3H,,
FE{R]
(2) Ny, t 3l ——— NI, |
ND{R}
(3} 23804, ' Oy — 2805,
H',

. , ] - .
(4) L'];t“xﬂ.unm * E'lz‘u[n "{-'ﬁl'inun.;n * '[—'r-”n{—).r.m

Bod 83T o ﬁgoﬁo &E;}?ﬁm -Eﬁﬂﬁgé: &t ub ?

W 2 AsHy g, —— 2450+ 3H,

[e
{ha!
() Ny, 1 3, — 25 NI,
| NO
(3) 280y~ Oy gy — % 280,
H oy

3 CoaHyyOy ey T HyOsy — Gl Ogpant ColpOegya,

AM 2008 A

139,

If11.1 mg of Cal’/, and 12 mg of MgSlf)4 are present.in 2 litres of water, what is its hardness

{in grams CaCO4/ppm) ?

2 Lag 8" 101 Dy Call, dobatls 12D MESO, s, on  sddgd

{{ve CaCOy/ppm) Jod 7

(y s . N0

(1) 15 4y 20

140.

The correct order of stability for the following superoxides is

& | 808 il ¢B o S0EHD Riae |Fiiw

Ch
(1) KO, >RbO;: (50, (2) RbO,> C50,> KO,
¥~ Cs0, = RbO, > KO, () KO, >Cs0, > RbO,

Rough Work
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141. A mixture of boron trichloride and hydrogen is subjected to silent clectric discharge 10 form
A and HCL A is mixed with NH, and heated to 200 °C to form B, The formula of ‘B is
oS &y gﬁﬁ_‘t‘.&; }_J_"[_ﬁsac.cﬁw ?.bt‘if-m“ﬁl Diize Mjsrﬁ &éﬁﬁ‘ﬂg r‘bﬂ?ﬁbé&;):d:-,
A 200k HC! ddyderon. A NH, & £8%, 200 °C B S TN, B JEydeeod,
‘B’ Olngy éﬂﬁ.‘@@

(1) H;BO, 2) B0,

Or” BN, (4} B,H,

142, Hydrolysis of 3iC/, gives compound X and HCY On'heating to 1000 “C, X loses water and
forms Y. Tdentify X and E,. respectively, \
{1)  5i0, and 8i 11,310, and Si0,
(3)  8i0, and 8iC (4} H,8i0, and SiC
SiCy e Sﬁﬁlmﬁ wol X nbofe HC/ & apoed) 1000 °C =& 35 Dobre, X 89
TS0 Y i odytiapod. Xinboh Y edy $&om S8oded.
(1) 80, 00k i @y HSi0, Sk Si0,
(3} Si0, 0ok SiC ' #) H,S5i0, sodoe SiC

143. The number of P—O bonds and lone pairs of electrons present in PO, molecule,

respectively,

Pi0, wrad® ) PO wogrer wbols 2odd Jusres zots Howgen HEHT

Wie _ @ 12,12

(33 88 | ) 12,4

Rough Work
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144. X, Y are anhydrides of sulphurous acid and sulphuric acid, respectevely. The hybridization
state and the shape of X and Y are

X Y
(13 sp?, angular sp, tetrahedral
(2) sp?, angular sp*, angular
sp?, angular sp?, planar triangular
{4y sp, planar sp?, planar

X, Y o 23dm :’.}w;}gﬁﬁ oo ﬁwﬂg@ﬁg e @5’?@3&:&:. X, Y off
AosBESn ?&JJE Dadoty ardd eg)due.

D4 : hd
(1) sp, E'cdonidn sp’, Biere TS
(2)  sp?, E'chotdm sp?, Efedoidn _
G spt, Sehatiin W, Sadie [Brber sty
{(4)  spt, D& S, w0 eh L

Ca(OIf), Cf;  auto-oxidation
+ A » CaCly~ B
(dry)  -H,0

Identify B in the above reaction,

145,

Ca(OH), 4y Heetio wb g
& — A . — s CHCIE"_E
(&) _po

® 115:655&3‘5 B 3 fbQoiud.

(1) CaOCi, 2y Ca(Ci0,),
(3:' Cd(DH}? {4) Gd[Csz }1
Rough Woark
61§
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146. Which of the following statements about Noble gases are carract ?
(I XeQ; is an explosive terrahedral molecule,

(I} In Fisher Ringe Method, a mixture of CaCl, and CaC, is used ta remove N, and O,

(I} He and Ne are chemically inert due to lack uf d-urbitals and high ionization potential.
(IV) At 173 K He and Ne are adsorbed on activated charcoal . |
The correct answer is '

(1) Tandlil

%Qf/ﬂandl'ﬂ

(3) I, andIV
(4) LI, Iand IV

& 1 Sroloye Mo [Bud wored® X0 Hogka 7
N XeO, weniy mf;'eag Sdotinhud o).

(M) 535007 BLBE' CaCl, , Cal) v JFSrD N, O, ool Fonodws
oo,

() >rdclo ook NalrSen d-wdyirgs Bdokd, JnH vahdEsn an £0n
dodt Dok SHs® ety

(V) &Pofo Lbofs Da¥rs 173K 28 682 & b Thnin ok o,

HOGHS 2arw

i1y I 1II
O I
¢ ‘I ILIV

& LILIOLIV
Rough Work
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147, Which one of the following pairs of complexes has the effective atamic number equal o 36 -

for the transition element ?

DOSGD Sirin G (DU Ddrow Bopg Foddubedd 2 DoiP SEnveru
mobd® 36 L Hiriin?

(1) [Co(NB,)JCL ; Ki[Fe(CN),]
(2)  [ColNH),1CH ; [Cr{H,0),
\[35'/[?'6{(30]:;] ; BgiFe(CN)|

(4)  |Fe{CO) | ; KslFo(CN)| <

148. 5 { aqueons solution is i(ept in the presence of oxygen and suitable micra-organism for- five

days at 20 °C. If the O, consumed is 0.2 p, the BOD valune of the sample is

58 zo mderdy u8yas Hook ehiSd Srhdhe FArdost pdh Fao
20 °C 8§ dodm 0.2 p 0y AJdolidhd ovd BOD b

(1) 4ppm

{2) O04mgl!

\.(-31/4*3 ppm

(4) 20mgH

IRuugh Work
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149, Which onc of the following graphs represent the correct order of builing puinis (B.P) of
cthane (1), cthyl aloohal (2) and acetic acid (3) ? '

&g (1), apd wopdid (2) Lok RS vle (3) o PIns IS (B o
HOODE | Sdbid ardods (), |Bobd odd” 20 ?

B.F

/)

(N

b
=

P
ek -

BP

S

(2)

—
8]
[y 5

v
A\

—
ka2
[y =

o
-UqI

(4)

—
-3
[y =

Roupgh Work
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150. Which one of the following reactions yield 2FE-butene as the majar product ¥

Wy CH, C=C CH, + Na/NH, (lig)

(2) CHy-CH - CH—CH, +Li/ NH, (liq)
(3) CH,—C=C—CH,+Na/NH,0H

{4) CH,-C=C—CH,+Pd/RaS0O,

[Bub arae’, 2E-wre S wb¥ S om ady $¥g 207
@ CH, - C = C — CH, + Na/NH, (&)

(2) CH, - CH = CH—CH, + Li / NH, (&)

() CH,-C=C—CH, +Na/NH,0H
@) CH,-C=C . CH,+Pd/BaSO,

E51. ldentily € in the Jollowing reaction
Chromic Nil, A
A + B

C ¥ B -
S T ~H, 0
(308 Sgd’ C & rhoiin.
fous NH A
CH, £25, 4 — 2, g5 ¢

Powggo ~H,0
(1) CH,-CH, - NH;

(2) CIi,-CN

(3) CH,-CH,~NH~CH,

0

¥ I
\45” CIL, =C - NH,

AM 2008 A

Rough Work
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R : I'yridine '
152. C,H, Ot + 30CY, ﬂ-—} X+ Y +Z, in this reaction X, Y and Z respectively, are

C,H,OH + SOC#, _ 2088 L ivez e BEE X, Y, Z o Hadn

(1} C,H,Cl, S0, HC!
wr” CH,ClL, 50,, HCI
3) CH,CILSOCL HCI

() G180, Ch

153, The compound that reacts with CH,MgBr to yield methane as vne of the produets is

CH;MgB: & 383 $08 DS o8 asyhomr ey Sodlrd Hosgin
(1) CH,CHO

(2) CILCOCH,

(3} CH,COOCH,

& CH,CH,0H

154, The organic compound which gives peroxy compound on exposure t¢ atmospheric ait in th

presence of sunlight is

w¥ S8y Borged) Srdgsty Shged Mo Podne, wh Dordy DERELT
DB Gomwoh. © €83 Drediw

= &

W CILOCH

(2) CHCY

(3) CH,CH,OH

(4) CH,CHO.

ool 5 0™

Rough Work
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155, When 1, I-dichloro propane and 2, 2 dichloro propane are reacted separately with aqueous
potassium hydroxide solution, compounds *A”° and B’ arc formod. Both ‘A’ and ‘B* gave

the same product *C’ on reduction using amalgamated zinc and HC/. Tdentify *C°.

{l} Propyl alcohal
{3} Propyl chloride

(2) Isopropyl alcohoi

Mmpan::

[, I- 386" | 2DS ool 2,2 8 (@OSed Shr derhabe WEEE su
Lcs-;smma‘ 15455 ad;élm, AN R w3 én‘a‘:&@’aﬂm Dﬁg:ﬁmm.‘ﬁ’, ‘B’ ¢ Bododi 3.
Shrr, odreBS Soth ook HCT & Jorroolid o Selystbin ‘€ I8ddod.

'C A fobodud.
(1) (TS ae) S
(3) | @ad Eod

(2) oTTad uuzr?’.:ﬁm

@S

H+

cxeess Cly

156, CI,CN + H,0 > A
Red P

in the above reaction, A and B are respectively

=% Cf
CH,CN + H,0 H* y A 7, B
Q8 P

2 uEpst, A, B e S&doe

¥~ CH,COOH, CCLCOOH
2) CH,CH,OH, CH,CH,C!
(3) CILCHO, CCLEHO

4y CH,COCH,, CCLOCOCH,

Rough Work
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157, Nitrahenzene undergocs reduction with Zn/alcoholic KOH to form a compound A, The

number ol $igma and Pi bonds in A, respectively, are

EL@'E Tods, anut}grs’ﬁﬁg KOH & Sob&dnan Jod A ) :ﬁg@aﬂﬁl ﬁﬁad&_‘é_}:uﬁ.
A &° few Dy SoBok "D’ ogrw ST

(1) 17,6 ' ur/z?, b

{(3) 27,8 4y 17,8

158. Which one of Ihe foowing compounds helps in achieving equilibrium between (2, and CQ,

in atmosphere Y

\(A’)/ Chlerophyll

(2) Vitamin-B,

{31 Pomphyrin

(4)  Acetyl salicylic acid
1Bob ar&S*, srerdiined’ O, (€O, gy Hioee 28 DD Srabhd domdo
207 |
W EEpE
(2) DoSB),
() ‘@rbpos

(4} 7 oRBS I Dhgernin

Rough Work
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159, *Natural rubber” is a polymer of

BE86° oo Saydh 6 G, POkE

(1) CH,-CH-CH-CH,

CH; CHjy
]

3y Cli,= C - € =CH,

'CH;

- !
25" CH,—Cll- C =CH,

(4) CH,=CH CH,<CH,

160.

March the fallowing :
[ist-1
{Vilamins} -
(A By
® B,
€y By
Dy Bg
S Lo,
arfae- (¢did)
(A} B
By B
() By
(M By
The correct match 15
nooDR ud
(A) (B) (O

1 v W (G
2y vy Giiy (0
(3 (i) - Ovyl (D)

N7 g S ¢ S 1)

(i)
(iii}
(iv)

(i)
{il)
(iti)
{iv)

(D
(i1)
(i1)
{n)

List-I1T

Ribollavin
Pantothenic acid
Miacin
Thiamine

o1l

B8t 05
FOBHVE wiidn
JOUrDS

BoHS

()

Rough Work
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